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Generalized Bernoulli-Hurwitz Numbers

1⃝ genus

g
2⃝ curve

3⃝ Abelian integral(
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∫ x

∞
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) 4⃝ x(u)(
= inv. fct. of x 7→ ug =

∫ x

∞
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)
and its Laurent coefficients

5⃝ von Staudt-Clausen theorem
6⃝ 2nd theorem of von

Staudt
7⃝ Kummer’s original type congruence 8⃝ Kummer-Adelberg type congruence 9⃝ Links with zeta and L-functions

10⃝ Differential equation of

x(u)

11⃝ Signature

sequence
12⃝ Congruence with Euler factors
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the sum is not justified yet.
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x′(u)2x(u)2 = 4x(u)5 − 4 +, −, +, −, · · · ?
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This estimate of the power is best

possible as a linear form in a.
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